- D\"aﬁ.w" it eor ML& AR Pefrﬁggnf*di‘a‘h;
Crumb 4 Mou e . A

iF

o SV et R
W;mj e grablem- el V=0.5m/ cramd  THx
Sa v.%? Procedare, t+hew %20 Xz i
A t{m?fc-—ﬂ%m\f procedurt.

The question here (s atbing how long Fhe

Mouse takes fo gef g?__d;imt_:‘_c fo s hele , We lknow

he w»zur:wq out swarj&)!* Tm B get~ fo Tiee crumb,

50 W [Ci'ww ‘[”f&t_cwm!glf cﬂff?pzawmem)“ M

e bt 8x=Smn. QUT o trip back gy 21t S s,
Wz aa,{sa bnow Mougels Vda«:f% 1t ey Frre

Avetwn wig axes, mouse J 30{%_%9& negatire

V’L(d(ﬁ'? teward 5 hiy hole 4 V=—0.5 e

Twve weitttn thys ag avernge vefac ity becacte

it seems b be g lied in Yl pravle Flwt
V-f’)gocﬁﬁg; 3 comstant The enfpe Frifp back.

So...
Kvowwns @ T, V; U, AX

eV

V= VeV, 2 0.5 because velocity @5 comstent,

Ax=®3m 9oy cramb tohale.

UNEN oW N @

avﬂ“"ﬂex‘
Dedmirion of "w(/focﬁ*;, S Jr’ipfqrf ment oveelapsed Hiwe:

fﬁrﬁﬁmﬂﬂ .
C horter fﬁﬂuﬁu process : "The problemtells us how far wpart Tle hele
A CVWL’ ave, [he Mouge fmwfs tlhat AdTtance WIH\a sf?ewf’ o
S”’Q@ v = ’z.‘ 5o -t—-z.f""- angd f“-’ = gw/ = é QCO’VW{Y

3 Tﬁug 0 e Saw *M“ﬁ&f Process as +he h@ixy@r.v,vg_pmé/:m



